#define

#define
#define
#define
#define
#define
#define

#define DATA_POINT

IR_PIN

LPWM
LIN1
LIN2
RPWM
RIN1
RIN2

void GO() {
digitalWrite(LIN1, HIGH) ;
digitalWrite(LIN2, LOW) ;
analogWrite (LPWM, 255);
digitalWrite(RIN1, LOW) ;
digitalWrite(RIN2, HIGH) ;
analogWrite (RPWM, 255);

}

void RIGHT() {
digitalWrite(LIN1, LOW) ;
digitalWrite(LIN2, LOW) ;
analogWrite (LPWM, 255);
digitalWrite(RIN1, LOW) ;
digitalWrite(RIN2, HIGH) ;
analogWrite (RPWM, 255);

}

void LEFT() {
digitalWrite(LIN1, HIGH) ;
digitalWrite(LIN2, LOW) ;
analogWrite (LPWM, 255);
digitalWrite(RIN1, LOW) ;
digitalWrite(RIN2, LOW) ;
analogWrite (RPWM, 255);

}

void BACK() {
digitalWrite(LIN1, LOW) ;
digitalWrite(LIN2, HIGH) ;
analogWrite (LPWM, 255);
digitalWrite(RIN1, HIGH) ;
digitalWrite(RIN2, LOW) ;
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analogWrite (RPWM, 255);

}

void STOP() {
digitalWrite(LIN1, LOW) ;
digitalWrite(LIN2, LOW) ;
analogWrite (LPWM, 255);
digitalWrite(RIN1, LOW);
digitalWrite(RIN2, LOW) ;
analogWrite (RPWM, 255);

void setup()

{
Serial.begin(9600) ; // »< 2 v (ArduinoIDE) & & U 7 L iE{E D il # 17 5
pinMode(IR_PIN, INPUT) ; /] R ZEEY 2 — e v R AN ICHKRTE

pinMode (LIN1, OUTPUT);
pinMode (LIN2, OUTPUT);
pinMode (RIN1, OUTPUT);
pinMode (RIN2, OUTPUT);

void loop() {
intans,l, r;
ans = [Rrecive(); // FRIMREY T2 voFr—X # %25 5
if (ans !=0) {
switch (ans) {
case 0x16: // [>]+F & v @ £ [0l
{
RIGHT();
¥
break ;
case 0x12: //HijiE
{
GOQ);
¥
break;
case 0x14: ///E [z
{
LEFT();
}
break;
case 0x17: //t4 i
{



BACK();
}
break;
/AT w7
case 0x15:
{
STOP();
}
break;
case 0x25:
{
STOP();
}
break;
case 0x2A:
{
STOP();
}
break;
case 0xA9:
{
STOP();
}
break;
case 0xDF:
{
STOP();
} break;
case 0x51:
{
STOP();
} break;
case 0xAC:
{
STOP();
} break;
case 0x54:
{
STOP();
} break;
}
Serial.println(ans, HEX);
delay(300) ;



/*******************************************************************************

IRrecive - 7RAMEY T2 v OEETFT— X2 #Z{ET 3K
DATA POINT TIEE L BT — X (8w M aFHALID 4,

RY: Al - -8 EEZ R L £

*******************************************************************************/

int IRrecive()
unsigned long t ;
inti,j;
int cnt, ans ;

char IRbit[64] ;

ans =0 ;

t=0;

if (digitalRead(IR_PIN) == LOW) {
/] V—=FEDF = v 7 %T

t = micros() ; /] BAEDEEZ (us) 215 %
while (digitalRead(IR_PIN) == LOW) ; // HIGH(ON)IZ 7 % £ G
t = micros() - t; // LOW (OFF) 45y % 1322 %

}
/] V= ZEA Y 7 SRS B (3.4ms LA o LOW 2 THIl$ %)
if (t >=3400) {
1=0;
while (digitalRead(IR_PIN) == HIGH) ; // Z Z £ T2 Y — X (ON #B43) #i &
/] T — 2D HIA D
while (1) {
while (digitalRead(IR_PIN) == LOW) ; // OFF ¥ 137 A RIS
t = micros() ;
cnt=0;
while (digitalReadIR_PIN) == HIGH) { // LOW(OFF)c 7z % ¥ TH>
delayMicroseconds(10) ;

cnt++ ;
if (cnt >= 1200) break ;  // 12ms LA HIGH @ ¥ ¥ 7z & rf1lkf
}
t = micros() - t;
if (t >= 10000) break ; /] 2 by I
if (t >=1000) IRbit[i] = (char)0x31; //ON #f5p3RK
else IRbit[i] = (char)0x30; // ON B A3

1++;
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}
/] T—=2HY EoEEMEBEDO T — 2 2 H3
if G!1=0) {

i= (DATA_POINT - 1) *8;

for G=0;7<8;j++){

if (IRbit[i + j] == 0x31) bitSet(ans, j) ;

}

}
}

return ( ans ) ;



